ACTIVITY 15 Name

Solve for x in each equation by using the
following properties of logarithms:
log (ab) =log a +log b
coa
logx(;) =log a—log b
m log a = log (a™)

log(x +6) = log .8 —log,2

log, (3x +10) = log, 8 + log 11

In5=Ilnx—In3

O € w

log,(4x + 8) = log, (3x) + log 4

O In20=Inx+1In5 2Inx=41n3

log,x —log,11 = log,(x — 10)

G 2 log,x =4 log6 @ In(x+2)—Inx=2In5

log,(x + 1)~ log,(2x) = 5 log, 16
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‘j In 6+ Inx = In 343 g log.x + log,3 = 2 log.2

Pre-Calculus by Design / Chris Fathauer www.tessellations.com © 2012 Tessellations



